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Write the missing number. Work out
@ £1=£081 +£ © 0017m x 100 .m
© £1=-£036+£ @ 1-625km x 1000 ..km
© 1km= km + 0-52km @ 238kg x 10 kg
O 1km= km + 0-05km @ 409 litres x 100 ... litres
©1m-079m= m @ 3600m + 1000 .m
O 1m-014m= m @ 875km =10 ..km
@ k- kg = 0-43kg @ 142kg + 100 ..kg
O k- kg = 0-68kg @ 29 litres = 1000 ... litres
Write the measurement shown by each arrow.
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Write the missing measurements. (21] y
X ..cm
@ square sides 8 cm 6
5 ¥ ..Cm
perimeter cm !
X A ! perimeter .........cm
area cm? e 2
: areaof A ........cm?
@ rectangle  sides 25 cm, 20.cm T5o areaof B .......cm?
perimeter cm
total area ..........cm?2
area cm?




